
Missing Numbers

Math in English

Fill in the missing numbers

= 38+ 26

= 45+ 13

= 68+ 47

= 57+ 22

= 86+ 23

= 99+ 29

= 38+ 25

= 55+ 41

= 59+ 33

= 98+ 88

= 29+ 16

= 58+ 24

= 35+ 13

= 52+ 21

= 88+ 44

= 66+ 33

= 78+ 28

= 48+ 27



Missing Numbers

Math in English

Fill in the missing numbers

= 38+12 26

= 45+32 13

= 68+21 47

= 57+35 22

= 86+63 23

= 99+70 29

= 38+13 25

= 55+14 41

= 59+26 33

= 98+10 88

= 29+13 16

= 58+34 24

= 35+22 13

= 52+31 21

= 88+44 44

= 66+33 33

= 78+50 28

= 48+21 27


